
SAP ABAP table BAPIKNA1_KNVH {BO KNA1: Nodes in SD Customer Hierarchy}

BAPIKNA1_KNVH

CUSTOMER [CHAR (10)]

SALES_ORG [CHAR (4)]

DISTR_CHAN [CHAR (2)]

DIVISION [CHAR (2)]

CUSTHITYP [CHAR (1)]

PARENT_CUSTOMER [CHAR (10)]

PARENT_SALES_ORG [CHAR (4)]

PARENT_DISTR_CHAN [CHAR (2)]

PARENT_DIVISION [CHAR (2)]

BROTHER_CUSTOMER [CHAR (10)]

BROTHER_SALES_ORG [CHAR (4)]

BROTHER_DISTR_CHAN [CHAR (2)]

BROTHER_DIVISION [CHAR (2)]

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 BAPIKNA1_KNVH-BROTHER_CUSTOMER = KNA1-KUNNR 

0..N

1

 BAPIKNA1_KNVH-CUSTOMER = KNA1-KUNNR 
0..N

1

 BAPIKNA1_KNVH-PARENT_CUSTOMER = KNA1-KUNNR 0..N

1

THIT

MANDT [CLNT (3)]

HITYP [CHAR (1)]

 BAPIKNA1_KNVH-CUSTHITYP = THIT-HITYP 
0..N

1 TSPA

MANDT [CLNT (3)]

SPART [CHAR (2)]

 BAPIKNA1_KNVH-BROTHER_DIVISION = TSPA-SPART 

0..N1  BAPIKNA1_KNVH-DIVISION = TSPA-SPART 
0..N

1  BAPIKNA1_KNVH-PARENT_DIVISION = TSPA-SPART 0..N

1

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 BAPIKNA1_KNVH-BROTHER_SALES_ORG = TVKO-VKORG 

0..N

1

 BAPIKNA1_KNVH-PARENT_SALES_ORG = TVKO-VKORG 

0..N

1

 BAPIKNA1_KNVH-SALES_ORG = TVKO-VKORG 0..N1

TVTW

MANDT [CLNT (3)]

VTWEG [CHAR (2)]

 BAPIKNA1_KNVH-BROTHER_DISTR_CHAN = TVTW-VTWEG 

0..N

1

 BAPIKNA1_KNVH-DISTR_CHAN = TVTW-VTWEG 

0..N

1

 BAPIKNA1_KNVH-PARENT_DISTR_CHAN = TVTW-VTWEG 0..N

1


